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‘MTE AT (Origamics) THAEAT FT g
fg ik, Fardt @R, AT R

39 slc # gH ‘NMEfAFE (Origamics)’ @ (At Right Angles sla&sX 2013) &
3Tdcllehall T TASEERUT Yeld Y g &1 fAeafail@d 3raclieed fhu arw & : (a) X St
(F1E) & gfaede [eg @9t & 3taer #Avg W@ w1 (b) X H&t & gfawse ey
T & hog & AT Teh BT qU H daold B ol (c) Tidese foeg I fhalll & 3REs
fdeg @ Siisar arelr (@r? 3R ar T & fef & Sisar arel W@, oFars # s
S0 T (a) 3R (b) TR & HST ST Thd g, Siefh (C) I THSAT Hidd gl
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f3-1 #, ABCD & g@ll&R e 8, foeg E @1 & 398 oo W wh foeg & 59
AN f9eg B 3R foeq C o AIgr orar g1 Al i [@m3i (hreh) & ofrer @3t @
geffar arr §1 Y@m@vs EB 3R EC H# ofie W 8 REa § Weg g0t 5o dfar €
(fieger stelr (@), St AEBC =ilcl &1 Jg ¥95¢ gl d1fgC o X #hiel AEBC &1
H3T EB 3R EC &7 oFa-HAciasTseh &1 I & W fard &7 § Feper & ey
el BC & ole-gHG I W AT 81 Ig 31deiiehe (a) 3R (c) & carear i
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g : fb &t X W@l adf i Aeg-@nit W Aedr § 3R @t @i @1 e 9eg E,
B, C & §A gl W § Fif% Ig AEBC & IRdFes gl

(b) = FHs & v, g fAdens B = (0, 0), C = (1, 0), D = (1, 1), A = (0, 1),
E=(t, 1) o0 &, 81 0 < t < 1 & EB &I 9aurar 1/t §, sAflv EB & & e AHAGIdHTSTh
T GaUTeT -t §1 EB & #7ET foeg & ¥&2mer (12, 1/2) §1 3 EB & ofFd HHSIHSTh
(RT-1 & @M meg) & THEOT y - % = -t (x - t/2) g

BC & oFd HHGIAHTSIR HI FHROT (RA-1 # 3@ mpe) & FAROT x = 1/2 B
AT meg 3R mee 8o O = (u, v) N A &, F1ER 8, Ig Toeg AEBC & dReheey
&1 9RR, u = 112 &, safaT

vV -t (112 -12) =% -t(1-1)/2
e, 0 <t <18 It (1 -t FH0<t <1 9ud # HURAA 3 gTdd A
SHAM: Y (ST t=128) IR0 (FFt=03Rt=18) Ig ¢Tx & v & 31
AT % FA R, Tg W &

t(1-t)=t-t2=%-(t-12)?2?<1/4
g AT AN RN EA E ATt = % &
Ao v HRAT ¥ - V. % 3R % & dg RByd §, 3da

318 <v<<h

Ha: O Th WIS W Tolal § fods dfeaw faeg & f@dens (1/2, 3/8) 3R (172,
1/2) 81 I8 Bler WWr@os O #7 fawguy gl

fReoqoft : I9X & 1S geufa fe@reh § & s@e s (1), t = % & |eT ARG &1 39
CAA P TH T NA g g P A tHR (1 -t) FagarTe AT sdad t (1 -1) &
IS TGoAId A1 BT § (Bl AUAEUS & Shael T dRafdd & od &)1 38 #aAfAf
&I SAMANT ST §H TR § : Iie §H G Gl &l g9 S ALq@r (3T mgg)
R Wrafdd #td §, dF Bsst EBC veh W [3fsl W AT giar & S @ & |aiorasd
g, 37d: 39T IReg BC & 30T & 318 W 811 § fodar f& ggor 2|
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ar 3 Requy | Befst EBC & 3fed:ahwg | 3 F3fet EBC & &% 4 3hwg H @Rl &=lv
T a1 3R fdequy & IR H Sl Aaeh glam| gE fSequer &1 ITEE & o ofema
ST TRAT &1 ST E = (t, 1) &, a9 ¥ E 3iR C & S arel o d A< § ¢

x=ty=-tx-1)

Sog 8l A W, 8H H = (t, t - t?) THerar g1 3 H T Waad W Toldl g fordeh
3=d =g B 3R C &, e seuad foeg aof & #e@r W % 3918 « g

| T [Sequy Ush FF qRTIT a% g1 MY & 2wl & vel F eddon & Heni
& TIT |iger FF & 3UANT il W, §A I ¢ T 59 E = (t, 1) &, a9 | & =Aderns
[x(t), y(t)] & STer

£(6) = t+V1+¢2
C1+VIt 2+ 1+ A-02
1
y(t) =

1+VI+ 2 +1+(1-0t)?

TSEstsT &1 & fe@man T whieeie (Re-2) dl faequy gt T &

T
o ™
------

3 | 3w Gl gfaafidt wse ve veaw, daFaT 2014



RFar &1 & goma : g afafafr o AdeR FEe & A o fr S Hebdr g
AR HETS & Y T A H JAH H gl fdeg E I BIE o W 3R
9T $feTT WX of | TTY & SR JIH Ueh o 3R Iclel A & AT Y 3T Teh Ad
PR & AT T 3BT BIET oIl W T F Folol dlel I & HY| T§ ST HY
f &Far gl FOX ot fqaor & A T A g

Teh feoreaed 9o : Ush 3T & U A A HST fSeteh fov fdeg O Fwrer &
SeY gl (38 aRTEAfa & ofie & Ag fie W =g Al a 3R b oMt arer wh
3T F AT SO IOTEATHT (FR FT ITE) H Fead HY IR Tg ST F F a
=b = 1% fAu & 75 AUEET § F1 IR Qe g7 9red g &

HqAIg : HoIF [T JHefare FAderor @ geirer sl
FIN-UFBET @ 3]l IUTEAT ( Teheled HISUSUA) HFUIG : AU el
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